Year 12 Chemistry
Quick Quiz: Using and Controlling Reactions

(@) E =me,AT =10x4.18%(22.3~19.0) =140 J = 0.14 kJ
(b) My, =58.44 gmol’

n="" 2 21 0359 mol
M 58.44
_E_ 013 g mol
n 0.0359
NaCl, — Na* +Cl",, AH =+3.9 kI mol™'
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(a) The reactants are in continuous supply.
(b) Advantage: Electrodes and electrolyte are not consumed.
Disadvantage: Requires fuels in high purity, which can be costly.

(a) (D
(b) (D

. Advantage: Energy easily obtained by combustion.
Disadvantage: Less available for use as feedstock for chemical industry.



